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\‘ 1. Every Sunday, Brenda and her cousin get together for brunch. This week, Brenda
is in charge of making fresh-squeezed orange juice. There is a proportional
relationship between the humber of oranges Brenda squeezes, and the amount of
juice (in ounces) she makes. After squeezing 3 oranges, Brenda has 9 ounces of

juice.
i What is the relationship between x and y?
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2. Carrie wants to save up some money to buy a new smartphone, so she babysits
onthe weekends. There is a proportional relationship between the time Carrie
spends babysitting (in hours) and the amount of money she earns babysitting (in
dollars). For 1hour of babysitting, Carrie earns $5.

X y What is the relationship between x and y?
0
] Write an equation for the relationship.
2
How long does Carrie need to babysit to earn $157
3
4

How much does Carrie earn for babysitting 4 hours?

Direct Variation from a Table

Tellif the following tables represent adirect variation-relationship.
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